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Practice Assignment

(" Review:
1. Convert 8 miles to feet.

| ity 5 |3x -3%)

Use the scenario below 1 r tions

i . AT
2. Simplify the expression: 5x— 37— 2(x + 4) -

The othletic department will raise money by charging cdmlss:on to an upcoming football game. The price will
be different for students and adults. Student tickets costs $3 each and adult tickets cost $5 each. The goalis to
raise $5000 from the sale of tickets to the game.

4, Using the equation, calculate the x and v

3. Define variables that represent the unknown
intercepts of the equations. Show all your work.

quantities in the problem. Then wiite an

equation that can be used to find the number of A b ind s
student and adult tickets if the goal is reached. X-nt: 4
X:# of aludordt tickoko 3y + 5(b)=5000 3(0) +By= 50"0
4 ) adult ek 31=5000 = 5000

’ i
3y +5y = 5000 Ty [Too0 achit

6. Assuming the athletic depariment met its goal ' "

5. What do the intercepts mécms in terms of the ;
problem situation? Use compete sentencesin of $5000, find the number of student tickets sold
your answer. if 600 adult ﬁckeI; sold.
X-intercopt e nunkay 3y + 5(woo) = 5000
Atudond tckaks dold gy + doog = 5000
e
Uddtlﬂf“hwﬁ Tareso 2y s B060
~infercyrt 0 Tru ruumdau
4 fickats p0lel i \x LT Atvdond
/c{% Ahuolint Hickedo OreSold. | thckeko
7. Assuming the athletic department met its goal : 8. Write the equation from Question 3 in slope
of $5000, find the number of adult tickets sold if intercept form.

400 student tickets sold. = 00
X 3k + %y e
S -3y

3(4wo) + By = HooO =
1200 +5y =5000 %réxffﬁ_‘_’f
B B
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P ! Unit 5: Linear Functions ‘ Proctice
9r0b'em5 9-11: Write an equation in standard form o model each situation. Then answer th estion.
. 2. You have $25 in a book store gift card. You want to buy magazines that cost $3 each and books that cost $3

each, How many books can you buy if you buy 3 magazines?

Foundations of Algebra

EqQuation: _ DY, + 5‘9 L. 25 ; 6\( r F..‘?Lj = abp

X‘.'ﬁ.'op oo Qzi o 5(,5) fsﬁ = 26

Bl‘ﬁ: OQ-bOO S % f‘alj :—ag 5._-_-_ 3.2
Solution: c@ pookS - _%é = A0 .

10. Gail plans to spend $20 on rides at an amusement park. The Ferris wheel costs $2 and roller coasters cost $3.
How many Feris wheel rides can Gail ride if she rides roller coosie&t& times?

Equation: 2¥ +3u =20 3 A = 20

Yt 0f Frvis Whea Ridso 2% v3(4)=20
9:-\;&’ of Rollay Cooader Ridso 2% ¥ \2=20
Solution: L‘ s Wheel Ridea 1% =9
11. A 100-point test has x questions worth 2 points apiece and y questions worth 4 points apiece. If you hove_@
- questions worth 4 points apiece, how many questions will be worth 2 points apiece? =
F Bouation: 22X+ HYy=J00 . . 2¢ + Yy =100 ' g €

X: 4 0932 pvoin{- %;w\mmv-o 2% + Hf2y)=100
y: 4 of 4 Poink guuaind | 2% 9L =100

“Solution: 2 +vwo 'DOJY\‘I"%QWN 2x= o
: - ¥Y=2

12. Calculate the x and y intercepts of the equation 2x - éy = 12; Then convert the equation into slope
intercept form. : . .

X-int Ej-imb

Y=o ) X=0
pigeIn 2(0)-by=12
o%= 3 ...-\95 = A
XxX=0 Tk
(1000 | LD.’ﬂ
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